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1. LEGALITY
a. Just bc something is immoral does not make it a crime, it must be prohibited by law before it may be punished.
b. Notice:
1. Legislatures define law

2. Wants Laws operate prospectively (forward moving)
3. Laws must be specific and not vague (void for vagueness principle)

4. To provide notice of what it lawful and what is not therefore helping enforcement and making sure courts and judges don’t arbitrarily create crimes bc this would destroy the CJS
5. Court has great power in being able to interpret the law.

c. Constructive Notice:
1. If the law is on the books, you are assumed  to know it and can be prosecuted – knowing the law is your responsibility.

2. Shaw v. Director of Public Prosecutors –
1. Convicted of “conspiracy to corrupt public morals” but there was no such law on the books.
2. allows for prosecution of a crime not published

3. it jury is allowed to convict solely on morals → no consistency in the law.

4. Lord Reid: held that court can not create new offenses for crimes that it finds morally reprehensible. This case violates the principles of legality
3. People v. Heitzman:

1. ??

2.  MORALITY:
a. We can only punish what is punishable by law! You can’t be punished for being bad or immoral → only punishable if law says so.

b. Bowers v. Hardwick –  shows that crim law is based on morality

1. Homosexual Sodomy was held to be illegal due to the morality of society 

2. The courts fear of the slippery slope of all conduct which is consensual and not dangerous will be protected by the law

c. in law there is an overlay between laws based on morality and those based on hazard
d. Murder – sliding scale for imprisonment bc we are looking at morality to make that decision
ELEMENTS OF A CRIME

AR + MR +AC + C = Crime

1.  ACTUS REUS: the Act Requirement – WAS THERE A POSITIVE ACT OR OMISSION?
a. 2 Kinds ( every crime must have positive act or omission)
b. Essential that we act – thoughts and speech alone are not criminal

c. If act → not voluntary → does not fulfill objective of the CJS (RIDR)

d. Policy: if we don’t care if the act = voluntary → public security would be undermined.

1. Positive act

a. Brain engaged with the body/ act must be voluntary 

i. Can’t deter involuntary acts, no need for retribution bc we can’t hate the act if involuntary, no danger so no incapacitation.
ii. Voluntary – means conscious and capable not free of coercion when engaging in those movements.
b. Involuntary Acts: MPC 2.01
i. Reflex or convulsion
1. Newton – claims to be unconscious due to shock resulting from being shot at the time he shot and killed officer
a. Court allowed him to argue Involuntary act.

b. Action was a reflex

c. Sets a high standard for defining act as invol – shot → shock → lost control of faculties

d. Objectives of CJS:
i. No Ret – unconscious

ii. No Incap – normally not in shock 

iii. No deterrence – can’t deter something that is not voluntary

iv. No Rehab – not  danger bc of invol state.
2. War vet Hypo: Hears loud noises in War → learns to duck. One day hear a loud noise in the grocery store → ducks and hits someone
a. Result of mental trauma, not an involuntary reflex.

i. Habitual actions are voluntary and conscious

ii. Policy: may want to consider as involuntary but there is slippery slope problem → must uphold the seriousness of hurting people.

iii. This is a conditioned response → all ppl have and agree they are voluntary. She is just afraid (diff from Newton)

ii. Unconsciousness or sleep 
1. Cogdon – killed her daughter while sleepwalking.
a. No control in state of sleep → acquitted bc sleepwalking is involuntary.
b. Had she chocked her husband before in sleep → different result

2. Newton-  allowed to argue unconscious as a defense → no act
a. Tells us don’t need to be in a coma to be unconscious.

3. Decina – Epileptic kills while driving due to a seizure.
a. If you know you are subject to epileptic seizures → negligent bc should have known of the likelihood when get got behind the wheel, when the conduct begins is subjective here it is when he gets behind the wheel

b. KNOWLEDGE is turning point bw vol and invol.
c. How much knowledge do you need to have?

d. Notice you are dangerous → act

e. CJS: retribution – we are angry bc he had notice,

4. Susan Smith – becomes terrified and jumps out of the car was planning on dying with her kids.
a. Act or Reflex:

i. Act:

1. her vol act began when she got in the car, drove to the lake  and released the brake 

2. Act of jumping out of the car was a way to save herself, self preservation not involuntary this is an act.

ii. Reflex:

1. she was not controlling her movements
5. Hypo: Finger on the trigger and you shoot a burglar

a. Having finger on the trigger → you know that it will prob go off. Apply Decina → knowledge

b. Act could be running down the stairs. The flinch was a reflex but the conduct was voluntary

iii. Hypnotism – 
1. Helplessness and dependency of a person under hypnosis is too pronounced to be treated as a voluntary act.

2. Patty Hearst - raped and tortured by captors → mental break and she starts to take the ideas of the captors. She could have left but she didn’t → convicted
a. Hypnosis:

i. Forced to undergo brainwashing – hypnosis

ii. Policy: if she gets a break → no justice.

1. sexual assault vic will try to use this to get a defense to murder.

b. No hypnosis:

i. Could be a conscious state of mind from time of brainwashing.

ii. Specific deterrence – prevent her from repeating her acts.

iii. There is a difference bw hypnosis and torture. → voluntary.

i. Bodily motion not a product of effort or determination, 

1. If someone else moves you.
2. Habit is voluntary- Irvine case

3. What is a habit and what is reflex?

4. Martin v. State:  officers arrest P at home, take him to highway, while on highway P manifested a drunken condition.

a. Court says he involuntarily appeared on the highway, forcibly carried.

b. CJS is looking for culpability not looking for those forced somewhere.

c. No Retribution: be act was involuntary → did not have a choice se we can’t hate.

5. Counter: Winzar – D held liable for being drunk in a hospital when his family brought him there, told to leave, then found slumped in a chair → police take him and charged with being drunk on the highway
a. Said there was a voluntary act → brain engaged with body bc he generated some behavior which gets him to hospital
b. Conflict with Martin.

ii.  Habitual
1. MPC says habitual actions done without thought are voluntary actions.

2. Decina- 
a. when does conduct begin or end? I don’t know-objectives.
3. Irvine case – forgot baby bc this was not part of his usual routine.
a. Voluntary Act → brain engaged with body
b. Involuntary Act

i. Reflex: Newton is precedent:

1. No- not suffering from bodily harm or injury

2. Yes – routine, unthinking, long preformed behavior → reflex

3. Slippery Slope: others will employ as a defense when they want to kill their kid.

4. Leg intent→ habit = voluntary act

5. But can’t fit into Objectives of CJS 

a.  no specific deterrence not really general → forgetfulness can’t be deterred
b. No incap – not dangerous

c. No retrib – no control

c. You can try to extend to period of AR which might make an involuntary act become voluntary. 

i. Seizure – are they aware of their condition? Then the AR was driving and this is voluntary even though the seizure is not. (Decina)

ii. Getting drunk and being pulled onto the freeway and charged with public drunkenness → the AR could be getting drunk if you extend the period of time.

2. Omission

a. Voluntary failure to act (of which he is capable) where a legal duty exists?
b. Was there an omission?

i. Did D fail to perform an act of which physically capable, not lion king

c. Was there a duty? → SSCVP
1. General rule: no duty to aid (unless there are good Samaritan rule Heitzman)

a. why:

i. perverse incentives: fear that people will never get involved for the fear of being charged with murder
ii. rugged individualism

iii. morality is not the law.

iv. Impractical requirement: very hard to administer

1. Heitzman.  Pg.190

v. Fear of drawing attention to the bystander 

2. If you get a weird good Samaritan rule:

a. Heitzman: says that GS laws are too vague. 

1. This case can get you back to the general rule of no duty.
3. Commonwealth v. Cardwell:
a. Mother failed to protect her daughter from child abuse by stepfather. Argued for battered woman’s syndrome she is convicted of child abuse
b. Policy for AR:

i. Children are helpless  and parents must protect their safety

ii. Slippery slope:

1. Any woman who felt inconvenienced by her child would have a defense.

c. Policy against AR:

i. Battered woman’s syndrome – no longer reasonable so can’t apply RPP standard
ii. Should not need to jeopardize your life to protect her child.

4. Hypo: Sally takes cousin to the lake, so knows that she can’t swim. You have been to the lake and she has not and you saw her having sex with your boyf. 

a. Actus Reus of omission

b. Not a positive act be even though she wants sally to die you can’t be convicted for your thoughts

c. Omission:

i. You took her away from help → assumed responsibility and she knew that she could not swim well. 

d. No Duty:

i. Family connection is not close enough so the familial bond = weak

ii. Morality is insufficient base for liability.

5. Kitty Genovese:

a. No duty bc forcing people to help is an unreasonable sacrifice.

ii. Statute: 

1. Pope v. State:
a. D witnessed the beating of a child and failed to come to the child aid. The D had no criminal liability bc she had no specific duty to come to the child’s aid.

iii. Status: 
1. Parent Child

a. Commonwealth v. Cardwell
b. Parent to child not the other way around
c. Hypo: do you need to run into a burning building to save your children?

2. Master & Apprentice
a. Traditional forms, usually there was free room and board, long relationship, very intimate, master is in total control of the world of the apprentice.

b. Yoga instructor????? Knitting class? – prob no

c. Hypo: Wk 85 hours a week. partner know the building 3 am you have a seizure after partner yells at you.

i. AR of Omission? Prob no but Argue for master apprentice and seclusion. 

3. Husband and wife

a. Bearsley Case:

i. Man has an affair and the woman dies of morphine od. Not guilty of AR omission. Shows that informal relationships do not trigger a duty of care

ii. In a case like this bring up seclusion too.

iii. no duty bc of slippery slope

4. Innkeeper to Drunk Customers

a. There is a financial incentive here so if we did not have a duty everyone would end up drunk and in danger.

b. We are trying to protect against bad incentives

c. Hypo: you have a party and charge admission:

1. like bar owner but there is not the same financial incentive. We think about contracts when money I exchanged but this is not a contract for care.

2. Prob no duty.

5. Ship Master to Crew and Passengers.

6. Doctor Patient
a. Barber v. Supreme Court:

i. Doc discontinues life support

ii. Docs do not have a duty to provide heroic care, not duty once treatment is proven ineffective.

iii. Use for open and ambiguous questions

iv. Need doc and fam to stop treatment

v. Passive Euthanasia is permitted but not active.
vi. There is motive here which is relevant only in sentencing.

vii. Doesn’t serve Objectives  of the CJS.

iv. Contract

1. nursing home, docs and nurses
2. Baby sitter and child, or day care center
3.  Stone and Dobson:
a. Part time care of co occupant triggered duty of care.

v. Voluntary assumption of care and seclusion
1. kid hit in street. Taken inside

2.  Oliver:
a. Inviting intoxicated person into your home → Duty  bc you take them away from others who could help them if he was injured = seclusion. Imp = she gave him the spoon which is why she is liable = act and omission
b. Slippery slop – don’t want to deter helping drunk people, the spoon turns the case away from the SS problem.

3.  Stone and Dobson:

a.  Ds Stone and Dobinson took in Stone’s younger sister Fanny who developed anorexia and died. Ds were convicted on manslaughter, because they assumed a duty of care. Fanny was a blood relative of Stone. Dobinson bathed Fanny.

b. Not traditional status duty 

c. She voluntarily chose to live there, but was unable to wash herself so she washed her and paid rent → contract

d. Implied nursing home contract develops

e. No seclusion

f. Disincentive to allow people to live with you to be a good citizen
vi. Peril

1. Jones v. State
a.  D raped 12-year-old girl. Distracted by pain and grief, girl fell in creek and drowned. D did nothing.
1. AR: rape

2. Omission: D not rescuing girl

3. Duty: Creation of peril on part of D caused girl’s death, the rape caused her to try to drown.

4. Creates ambiguity for how long D has duty to victim

2. Kuntz v. Montana, GF stabs BF with knife after he abuses her. GF does not seek medical help.
1. Fail to perform an act: Yes

2. Duty: Yes

a. If no duty is found, every time a person gets upset and harms another, he has a defense not to seek aid

b. GF put BF in peril but not calling police

3. Duty is created when safety is reach → perverse incentive kill him and you are not liable.

3. Hypo with the blinker: possible peril for not signaling and failure to stop and aid.
2) MENS REA (MPC and common law)_____________________________________
1. Does D have a Culpable Mental State to _________?

2. Why do we care:
a. We don’t want to punish people unless they are conscious of hazard and wrong doing.
b. Objectives of CJS are not served without a mental requirement.

3. MPC 2.02 (3)

a. Bottom line recklessness, if empty of MR language- assume recklessness

b. Unless the law otherwise provides, the level of culpability must be at least recklessness
i. Neg is not favored in MR crime

ii. Knowing of the risk and disregards it is worse than one who is unaware of the risk.

iii. We are neg all the time so if we go this low people will be paranoid or disregard the laws completely.

c. Wants to make sure that only worst offenders are punished.

4. MPC 2.04(2)

a. If there is an articulated MR, it applies to each material element in the statute.

5. MPC 2.02(5)

a. Showing of the lowest standard is all that is needed to convict

i. A purposeful actor can be convicted under a statute that only requires knowledge

1. PURPOSE

a. D’s conscious object is to do something or cause a result

b. Most retributive – best fit for objectives of CJS.

c. Neiswender: “Endeavor” = purpose
i. He only had to have knowledge or notice that his actions would lead to obstruction of justice. There is notice if obstruction of justice is reasonably foreseeable from the acts. 
ii. This is an objective test and looks like negligence, and we have MR language indicative of neg.

iii. Shows the elasticity of purpose

iv. The court got it wrong:

1. puts dummy’s at risk for obstructing justice which is SS bc turns purpose into a neg standard.
2. Neg standard bc judges from perspective of RPP and turning it into purpose

3. We don’t want to punish people just bc they are stupid.  → objective CJS.

b. Ex: Victor is Ill and asks Danielle to kill him with poison.  Danielle dilutes poison with water…Victor dies
i. »PURPOSE? Not really to kill, but under NEISWENDER there was purpose b/c natural consequence of giving poison is to kill.
c. Ex: Sequestered jury and intern knows they are there and accidentally leaves a paper about the case out in the lunch room and they all see it
i. Obstruction of justice?
1. This is a reasonable foreseeable result bc everyone knows about the jury

2. under Neiswender can be convicted bc though it was not her conscious purpose bc  endeavor = reasonably foreseeable = purpose. And she fits bc this was foreseeable from RPP.

d. Note: if you have a situation like guy leaves battery acid on table around kids and they drink it and die. You could make it purposeful through Neiswender, but don’t bc that was an obstruction of justice case and this is a case involving death and homicide → no relation. Justify thru objectives of the CJS.

2. KNOWLEDGE

a. Aware of the prohibited conduct or aware that the prohibited result of conduct is practically certain.

a. 2 ways to define knowledge:

i. practical certainty and 

ii. willful blindness

b. Willful blindness: 3 tests

i. Standard for most drug crimes so courts can fight hear no evil see no evil defense.

ii. Jewell:  

1. Conscious purpose to avoid knowledge, (i.e. deliberate ignorance is the same as knowledge.)

2. Convicted for trafficking drugs in a secret compartment in his car.  D was aware of the compartment but he says he did not know that there were drugs in the compartment.
3. If Jewell permits conviction → you can take it down on policy: 

a. this might water down knowledge, i.e. reduce MR

b. maybe he is just stupid if so this is → SL

c. Kennedy – conscious purpose to avoid knowledge is too vague, legality? And what if he really thought that it was something else, i.e. too expansive
iii. MPC 2.02(7) -

1.  D must be aware of high prob of existence of the prohibited fact; no knowledge if he actually believes that it does not exist.

2. Jewell is bad bc true ignorance can be criminally liable when knowledge is required.

iv. Giovanetti: - 

1. active avoidance of prohibited facts

a. mental as well as a physical effort cutting off ones normal curiosity by an effort or will. 

b. If G does have AA then you can say that your guy can’t have it either.

2. :D, a gambler, was charged with aiding and abetting a gambling operation b/c he leased his house to a couple of his buddies who were gamblers.  
3. He prob has knowledge under active avoidance but we can’t find him guilty bc → burden of knowledge on people.

v. **** use one that fits that facts but try to prove under others bc we don’t know which standard the courts will go with*********

3. RECKLESS

a. Aware of the risk and goes ahead anyways

b. Subjective Standard
c. 4 Prongs of recklessness

i. Was D consciously aware of the risk? (S)

ii. Did D disregard the risk? (S)

iii. Is the risk substantial and justifiable? (Wild Card)

1. if 3rd prong is O standard → turn recklessness to neg standard bc you are  created a socially constructed norm.
2. Based on Policy

iv. Gross deviation from the perspective of a law abiding person?  (O)

**********all 4 prongs must be proven for the D to be reckless***********

**if you have a reckless MR and it is not proven you can try to prove knowledge which will → MR for the material element.

d. Substantial and unjustifiable: O or S

i. Objective
1. Sherry, Court creates a reasonable person standard by which to judge D’s conduct
a. Honest mistake does not negate liability

b. Case where three doctors raped nurse ( mistake as to consent not a defense

ii. Subjective

iii. Hypo: ER doc D diagnoses penicillin poison as exotic disease and patient dies.

1. no purpose

2. no knowledge

3. reckless:

a. aware of risk → yes

b. disregard the risk → yes

c. Substantial and unjustifiable → ?

i. If you want to punish use O 

1. Doc should have avoided treating her since this was so improbable

2. objectives of CJS:

a. deterrence

b. retribution – egomaniac or did D just make a mistake

ii. If you want D to get off use S

1. she thought that she was helping the patient.

d. Gross deviation → yes a RP doc would not think that was an exotic disease they would know it was penicillin poison.
iv. Hypo: race car driver thinks that she can drive 100 down PCH and kills someone.
1. aware of risk → yes

2. disregard risk → yes

3. substantial and unjustifiable risk?

a. On policy we go with O standard

i. No social reason to not find her guilty

ii. No prob with perverse incentives

iii. A Reasonable person would not have driven this fast she is trained and should have known of risk. 

b. S:

i. She was properly trained and though she would be safe

ii. Trained → used her knowledge to deny danger.

4. Gross deviation → yes

4. NEGLIGENCE

a. No State of Awareness. 
b. Failure to perceive a substantial and unjustifiable risk

c. Gross deviation from the care that would be exercised by a RPP in the same situation.
i. Santillances – 

A. Crim neg b/c gross deviation from RPP standard bc D accidentally cut nephew with a knife during an altercation.

B. show us there is a difference between types of neg.

C. looks like a  purposeful murder → plea bargain under MPC 2.02(5)

d. Ex.
i. →  If somebody leaves a brick on the sidewalk and a child trips on it and dies → It is not Criminal Negligence…only CIVIL bc this is not a gross deviation from RPP
ii. →  If D leaves child in backseat during 103 degree weather with windows up → It is Criminal Negligence b/c it is a SUBSTANTIAL and UNJUSTIFIABLE RISK.
5. MALICE (common law)
a. Regina v. Cunningham – D almost asphyxiated  a woman when he ripped a gas meter off the wall when the gas seeped into Mrs. Wades house. He did no think about her inhaling the gas but he should have known this → Negligent.
i. Court says that you have to apply MR requirement to each. 

ii. Malice means intent or recklessness, the court erred in instructing malice to mean wickedness.

iii. Rule: court will not go below the line of recklessness to convict people, P must intend to do the kind of harm that was done, or he must foresee the harm may occur and continue recklessly to do the act.

iv. You can’t punish someone for doing something bad – wickedness is insufficient.

b. Regina v. Faulkner:

i. Sailor went into ship to steal rum, it was dark he lit a match and set the ship on fire.

ii. Could not be found guilty under maliciously unless they prove that he considered the risk of  fire and disregarded the risk and it was not reasonably foreseeable.

3) MISTAKE OF FACT

DID D MAKE A MISTAKE OF FACT TO A MATERIAL ELEMENT?
>>Attendant Circumstances

a. Context  within in which D's act or omission takes place determines whether an act is illegal. Are elements of a crime which must be present for D to be convicted of the offense if Material there must be MR if immaterial D does not even need to know about it to be convicted.
i. Material Elements: an element to which the MR requirement applies

ii. Immaterial Element: an element to which MR is not required so conviction requires no MR.

>> MOF can be a complete defense when it negates the existence of the state of mind such that D did not have the MR for a material element.
b. General Rule: MOF or ignorance precludes liability if the MOF meant D lacked the required MR,

1. Material Element? (1st look to statute for MR language  for a fact)
a. 2 views

i. MPC

ii. Common Law

b. MPC:

i. D friendly 
ii. No SL

iii. An Element which goes to the harm or evil we seek to prevent → Elements of the statute that go to heart will be material, so D must have MR for those to be convicted.

iv. MPC 1.13(10) -Does the element go to the harm or evil that we seek to prevent? If there is a MR requirement then it is material
a. Legislative Intent

b. Act so bad that leg wants a high punishment

c. Protect Tender years
d. Perverse incentives
e. Grodin Dissent: use to say no knowledge → fact should be material bc want to punish those who are blame worthy. Can this be here? Ref hypo.

2. Penalty

a. High punishment indicated materiality

b. Unfair to put D in prison for so long If no MR

3. Public Policy (moral wrong)
a. Hates SL → D friendly
b. Objectives of CJS

4. History (moral wrong)
a. How was the element traditionally treated? Material or immaterial?

5. Language of Statute
a. Look for MR language.

i. If no MR in statute → Recklessness not SL (Morris and Staples)

b. Even with MR language certain elements can be immaterial (Olsen - age)

c. Grammar: intent to gratify lust does not modify an age.

d. MPC 2.04(2) – MOF defense not available if D would have been guilty of another crime had the situation been as he had supposed But MOF can reduce the grade of the offense to the situation as he supposed it to be.

i. MPC says everything is material

ii. Conflict w. Lopez – gravity like analysis under common law

iii. MPC lets you mix MR and AR bc committing illegal act and it is worse than you think  → guilty of lower offense.

6. Regina v. Prince: D convicted of taking an unmarried girl under the age of 16 out of the possession and against the will of her father. D thought she was 18 but she was 14. no MOF bc age was immaterial. Held: material = taking a girl (AR) and without her father; permission. No MR langue → recklessness
a. Harm or evil to prevent during this time was taking girls from their fathers bc they were considered possessions and this is SL

b. He had the MR required (Reckless)of taking the girl from her father → guilty

c. Moral Wrong approach to what is material

7. CC: White v. State:

a. D convicted of abandoning his pregnant wife. He claimed not to know that she was pregnant. Held: material element was leaving his wife and it was immaterial that she was pregnant since it is immoral to leave you wife.
b. Conflict with MPC

i. AR – leaving: MR: intent → purpose or knowledge: AC: Woman, Pregnant, Husband
c. In white and Olsen if an element is the most toxic that will be a reason to designate it as immaterial. 

d. Criminality turns on an immaterial fact → strict liability

e. Court it making criminality out of innocent conduct → moral wrong approach

c. Common Law

i. Harm or evil we seek to prevent?

1. Grodin gives us a data point for this within the common law.??
2. Legislative intent

a. Favors harsher punishment to deter from future actions.

3. Penalty

a. Higher punishment in Olsen majority → immateriality
b. High penalty indicates materiality (Olsen Dissent)

i. Person with an innocent mens rea is different from person who seeks to violate statute

4. Public policy

a. Want it to be immaterial bc we want to deter. (objectives of CJS)
b. Fairness

c. Perverse incentives

5. Gravity
a.  Lopez –

i.  too bad for you. Caught on one offense which he knew was criminal and turns out to be worse than you expected.
ii. Use to go SL and deem lesser offense SL.

b. Too bad for you as long as you can be convicted on something else.

c. If the element goes to the gravity of the offense then that element will be immaterial → leg intent and policy come together.

d. Age and type of drug → immaterial

6. History

7. Language of statute

8. Jurisdictional Elements:

a. Mens Rea does not need to be proved when it comes to jurisdiction or venue bc they have to bearing the harm that the offense seeks to prevent or on the existence of an excuse.

b. Not material bc they go to Fed being able to bring you to court.

c. Feola:

i. D robs people he thinks are drug dealers and they turn out to be federal under cover agents. There is a harsher punishment. 

ii. Held: MOF is immaterial for all JDX elements

iii. Leg intent: people who hurt officers are more dangerous and want to give max protection to officers.

iv. A JDX fact may go to the harm or evil but it will still be considered immaterial unless you can distinguish it well

1. assassin vs. assault in the bank 

2. penalty more severe than in feola..we never got a # of years

9. People v. Olsen:  Legislative intent, SL
a. Reasonable MOF as to the age of a child = not a defense to charge bc public policy of the statute was to protect children → MR of age is immaterial due to Policy.

i. Use to show that mistake of age should not be a defense even if reasonable

ii. Policy: super deterrent to protect tender years

iii. Leg intent: > punish if < 14 F policy to protect U 14 → Leg intent for SL.

iv. This is a Common law analysis, MPC would be more liberal.

b. Grodin Dissent: can’t send someone to jail who had belief she was old enough, so in D’s mind not behaving  criminally. Save liability for the blameworthy. SL is cruel when you don’t know that you are committing an offense
i. Wont work in a drug case where they are mistaken as to type of drug bc they know they are doing something wrong.

10. Commonwealth v. Sherry

a. Example of how a material element can be given a MR be converting the 3rd prong of recklessness into a negligence standard

b. Consent is material → must prove MR attached to her lack of consent. Even if they really think she consented → still guilty bc recklessness can be converted to negligence (which is a RPP standard bc a reasonable person would have known) by holding that an unreasonable MOF is not a defense
c. Held: unreasonable good faith MOF is not a defense which makes there neg commission of a crime criminally liable,
i. Policy: women deserve protection but neg rapist is not as deserving of punishment as a normal rapist → not as culpable.

ii. Reasonable GF MOF is still valid in the courts did not go this way bc they would have had to go SL on them → SS.
d. STRICT LIABILITY –reg offenses (common law)
i. Classic SL → Highly regulated industries( bc people here are aware that everything that they do is dangerous – oil tanker) impure food, selling liquor to a minor, misbranded articles, traffic violations and there will no MR in statute (Assume Recklessness and then consider SL)
ii. Low Penalty
1. Not Staples
a. D violated statute that makes possession of an unregistered firearm punishable  by up to 10 years. D thought that he had a rifle, but it had been turned into an automatic he was unaware. Says he needs notice bc people don’t know guns are super dangerous.
b. High punishment → no SL.
c. But in Olsen = 10 years still SL.
iii. Low Stigma
1. Baker
a. Convicted up speeding claimed that accelerator got stuck while using cruise control. Act = voluntary bc he chose to turn on the cruise control and delegate his driving authority to something that is not a necessary component of the car.
b. Brakes failing → no SL bc essential component.
2. Not Morissette:

a. P honestly believes that the shell casings are abandoned

b. No SL → in Theft cases  bc stealing is a high stigma offense

c. This case gives us an SL profile

d. No SL for Malum in Se crimes? –theft is malum in se

e. Court could have said JDX fact and convicted him

f. Conflict with Olsen Majority

iv. High Hazard
1. Freed

a. High Hazard puts you on notice that the gov is interested in your actions.
b. He knew that having  grenade which dangerous and that possession was not entirely innocent.
v. Defenses to SL

1. only if there is no AR will you have a defense!! Bc there is no MR requirement for SL

2. Kantor:

a. Traci Lords

b. A reasonable and honest mistake Allows a MOF defense to SL offense → to a child porn statute even though they don’t need to prove MR.

c. Court combines SL and MOF in order to not strike down statute which was judicial activism and is dangerous and shows the power that courts have.
d. Court does not want to chill 1st Amendment rights. 
4) MISTAKE OF LAW__________________________________________________________________ 
1. General Rule:

a. MOL is not a defense

i. Policy:

1. it would encourage ignorance (Holmes)

2. exceptions would swallow the rule

3. SS of getting off due to loopholes

a. people are assumed to know the rules of culture and the law is based on cultural understanding. We should know between right and wrong.

b. Dangerous activity → you should be on notice

4. Opportunities for wrong minded people to act in bad faith.

5. Game playing to evade proper criminal responsibility,
ii. MPC does not give any mistake of law defense.

iii. Marrero -
1. D is arrested in nightclub for possession of an  unlicensed gun. D though he was exempted from the statute which allowed peace officer to carry a gun, bc he is a federal corrections officer.
2. no MOL defense even though he belief was founded on an official statement bc the statement was erroneous
3. Court takes the liberal MOL defense and converts it to MPC → no defense
4. Dissent:
a. MPC is outdated laws are now so complex people should not culturally know what is illegal and what is not.
b. Exceptions:
i. MPC 2.02(9) –  if statute is material
1. Unless the legislature says that the code is material you can’t get a MOL defense
2. Leg would have to give a MR to the statute or code
3. Willfully means the code it material → 2.02(9)
4. The law itself is immaterial.
ii. MOL if a defense when it negates a material element

1. Smith:

a. D ripped out the stereo wiring that he had installed himself when he moved out of his apt he thought the property was his and upon leaving he destroys some of it. He thought the property was his but he had a MOL as to the law which made it the property of the LL.
b. MOL to material element of another’s property → negates MR → MOL defense.
c. Leg intent → suggests defense be he is not a vandalizer
d. We have a SS problem here: people can  lie and say that they don’t know that law.
iii. MOL = defense when D has been officially misled as to the law.

1. Weiss:

a. MOL as to “without authority”
b. Charged with Kidnapping of person they though was a murderer.  Illegal to delegate the authority to arrest but Weiss believed that they were acting within the authority of the law bc instructed by an officer
c. People believe police officers, he is not evil
d. Conflict with Marrero = not able to reconcile bc they both make MOL as to law enforcement law and they could both be innocent minded.(analyze and choose on policy) – look to conduct.
iv. Hypo: it is an offense to make a material misrepresentation on any federal application for a passport. $50 Fine
1. AR: make
2. no MR → reckless
3. Does MOL negate MR:
a. Marrero – No
b. Weiss – Yes
4. Is misrepresentation Material?
a. Yes – goes to harm or evil
b. Use Weiss to get him off.
5. Shows that MOL is a mess bc Marrero is the CC
v. Complex Codes
1. Willfully + CC = MOL Defense

2. you need to know the law to be convicted, image of the innocent actor.
3. Cheek: taxes
a. Convicted of willfully (intentionally) failing to file a tax return. His honest but unreasonable mistake that he was not required to pay taxes → MOL defense bc he had an honest but unreasonable mistake.
b. Policy:
i. For CC if we requires your mistake be reasonable everyone would be in violation bc tax laws are so confusing and would cost gov too much $.
c. Rule: But if you know what the laws are and  you disagree with them you do not get a MOL defense. (look to see if they paid taxes in the past). 
d. This case can get anyone a MOL defense under complex codes.
4. Liparota
a. Charged with unauthorized acquisition of food stamps, but he did not know he was using them in an unauthorized way. MR requirement was knowingly → MOL negates the necessary MR.
b. Welfare codes are material → SS for wrong doing
vi. Innocent Actor 
1. Ratzlaff

a. It is illegal to willfully structure payment of a  debt.
b. MOL defense bc he did not know he was violating the law and bc courts are worried about innocent structuring (avoiding audit and blood money is worse)
c. Fear of convicting Innocent actors →defense
2. Bryan:  

a. no MOL → When the statute is material (willfully) → chaos. He should have gotten MOL defense
b. Other cases he would have a defense bc he didn’t know (filing off the numbers is irrelevant bc it has nothing to do with the statute) but the court convicts him on policy grounds
c. Bryan allows MOL conviction when statute is material if it appears someone has a evil meaning mind (court – no danger in convicting the innocent)
vii. Conclusion:
1. Cheek, Weiss, ratzlaff, smith, liparota → MOL Defense → negate Material Element
2. Marrero, Bryan → no MOL Defense.
3. consider innocent actor or not?
viii. MPC Defenses
1. MPC 2.04(3)(a) – MOL defense if D does not have actual Notice of the law and it has not been published or otherwise reasonably made available. 
a. problems:
b. very harsh
c. out of date bc there are so many laws → things are not inherently illegal
d. to dangerous to override but doesn’t fit in society
e. direct conflict with Lambert
2. MPC 2.04(3)(b)(i) – MOL where D acts in reasonable reliance upon a statute later determined to be erroneous or overturned.
3. If the law has been changed and your conduct follows the law before it was changes you are fine….lake dump???
ix. Regulatory Offenses w/ Omission– Malum Prohibitum → need actual notice
1. low punishment, welfare offenses usually non harmful.
2. Lambert:
a. Restricted to Omissions and non harmful welfare offenses w/o notice
b. Did not register in CA.
c. She gets MOL defense bc she is an innocent actor and bc there are no circumstances which give rise to notice.
d. Held: Notice is required with a regulatory law involving omission bc of fairness → MOL Defense
e. Say you need actual notice bc omission crimes give less notice than positive act crimes. (this is weak bc commission does not give more notice than omission)
x. Cultural Defense
1. D may get a Mol Defense if unaware of US law bc she comes form a diff culture
a. NOT and absolute defense: usually comes up in sentencing
b. Not Successful
c. Pros: serves fairness
d. Con: respect new culture, where do you draw the line, Sexism – hurts the vic, hard to apply in all cases, what is culture, SS
2. K9 Case
HOMICIDE​​​​​​​​​​​​​​​​​​​​_________________________________________________________________________
1. MURDER 1 (CL)
a. Willful, Deliberate, Premeditated  Killing

b. Malice Aforethought

c. CPC 189:

i. Per se method – then they have premeditation

1. explosives or destructive device, knowing use of ammunition designed to penetrate metal or armor, poison, lying in waiting, torture

2. Est. on the Facts:

a. 1. Words

b. 2. Conduct

i. Did he plot? Did he weigh advantages and disadvantages?

c. 3. Attendant Weapon (intentional use of a deadly weapon)

d. Why is Premed the worst?

i. Deterrence and fits OCJS

e. 2 Approaches:

i. Lowest threshold for M1

a. Carroll:

b. Premed and deliberation: 5 minutes → NO TIME TOO SHORT 

c. Eliminates distinction bw premed and vol manS

i. Length deliberation is not required.

d. from end of argument to shooting only 5 minutes but no vol manS.

e. Hard to use bad action  of wife bc she is dead, claim of battered husband does not work, Experts claim automatic reflex nope!

f. Science is rejected bc (SS) we want to protect society from criminals and we want impulses controlled, and law looks more at blame

2. Young
a. Premed can be formed when pulling trigger → no time needed
b. Shoots brother in the chest

3. O’Searo

a. Conscious purpose to bring death is all that is required for premed and deliberation.
4. Earnst

a. Brief Space of Time cited in Carroll
5. These cases indicate no difference bw M1 and M2

ii. Highest Threshold for M1

1. Guthrie

a. D stabs co worker in the neck after being taunted. D is mentally unstable. He takes off his gloves and walks over to the vic → time to form intent to kill.
b. Must be some period between the formation of the intent to kill and the actual killing. 

i. Proof of calculation

ii. Opp for reflection

iii. Elaborate plan or scheme not required

iv. Not impulsive
v. Weighing of decision to kill.
c. Mentally instable → could go either way but he can form the requisite intent → should be responsible for an innocent’s life

d. Carroll and Guthrie: split on meaning of premeditation

2. Anderson:
a. BF gruesomely kills GF’s 10 yr old daughter. Found naked, stabbed 60 times. No planning, no relationship, method – explosive.
b. Shows premed is a bad way to determine  the worst which is why courts don’t use it exclusively
c. Emotions → M1 bc innocent child but he gets M2
d. 3 factors:

i. MOTIVE – presence of a motive to deliberately take life

1. look at condition of relationship bw the accused and the vic before the killing

2. seems impulsive → no motive

ii. METHOD – manner of killing

1. explosion of violence vs. cool calculated murder

2. Carroll – execution style → gun
iii. PLANNING – whether preparation existed 
1. in terns of the type of weapon used or the place where the murder occurred.

e. Stat construction must get M2 (crazy)

3. Forest:

a. Man kills his terminally ill father with a gun an cries while he does it. Mercy Killing
b. Stat construction must get M1 (crazy) bc there is motive, method – execution, planning.
c. This is the strictest construction bc passed – Anderson, Guthrie, and the 4 → M1

iii. 2 approach → will be able to go either way → policy & SS evaluation

iv. Laker Hypo: will no M1 or M2 not IV bc there is no adultery
2. MURDER 2 (CL)
a. Not intentional, not premeditated → acted extremely dangerously?

b. Abandoned and Malignant heart, Malicious killing w/o premeditation

i. Subjective Awareness of risk of death is not Required for M2 (O)
1. Super Dangerous Activity → M2 
2. Malone – Russian Roulette
a. D does not think he will die bc of the way he loaded the gun.
b. Gross recklessness (sim to Welansky = IV) does not require subjective awareness of risk.
c. If activity is pointed toward death → M2 even if not aware of possibility bc it is so obvious that it indicated a disregard for the value of life.
d. Gee im sorry → indicates malignant heart and he might be aware of the risk makes this more logical.
e. Driving 110 hypo – unaware of risk but speed indicates a malignant heart.
3. Roe – Russian Roulette
a. After death D is emotional
b.  No idea of possibility of death (awareness of risk does not matter) → still get M2 under CL
4. Davidson
a. M2 for taking a nap and dogs kill.
b. Created an unreasonable risk and she disregarded the risk by not getting them trained → indicates disregard for value of human life.
c. Even if she was not aware a reasonable person would have been aware.
5. Fleming –
a. Drives down wrong side of the road while speeding and intoxicated
b. Malice and gross deviation for standard of care
c. Not all drunk driver cases are M2 this is bc Gross Neg and Reckless.
ii. Awareness of risk of death is Required for M2

1. more Data point for extremely dangerous behavior

2. Pears:
a. Gets M2 bc he had been warned by 3 people that he was too drunk to drive.
b. Warning = notice of accident and death = M2
c. Watson:

d. He drives to a bar, drinks and leaves → M2 bc driving there is evidence of a Malignant heart
e. SS prob – makes a glass of wine = malignant heart​​​-----So Expansive → restrict to its facts
f. Could turn speeding into Malignant Heart
3. MURDER (MPC)
a. MPC 210.2 -  PKR + >> manifesting extreme indifference to the value of human life.

i. 4 prongs of recklessness;
1. aware of risk

2. disregard risk

3. risk is substantial and unjustifiable

4. gross deviation form the standard of a reasonable person.

ii. Plus something extra:

1. Look to Malone and Fleming to determine what that extra something is 

a. “Extreme disregard for the value of human life”

b. No Diff bw M1 and M2:

i. Rejected premed and deliberation as a way to identify murders that should have a great punishment.

4. FELONY MURDER (CL)
a. Common Law

i. Where D commits a Homicide in the course of the commission of a felony. D will get M1 or M2 depending on whether it is enumerated

1. Enumerated offenses → FM1

a. Arson, Rape, Robbery, Mayhem, Burglary, Kidnapping, Train Wrecking, Lewd Acts with a Minor.

b. FM1 → group conduct and Co D kills someone

ii. SL → no MR as to Murder, Just MR as to the Felony

b. MPC:

i. 210.2(1)(b) – were a homicide occurs during Robbery, Rape, Burglary, Kidnapping, Felonious Escape → it is presumed that The D has the requisite recklessness + this is a presumption and there can be rebuttable presumption by D.

ii. No SL → shifts burden to D to prove that he did not have PKR +

c. Why do we Keep FM?

i. Super deterrent
ii. Short cut to prove intent

iii. Retribution – more retributive when a person kills when they are doing something wrong.

d. Serne:

i. Foundation FM rule – Arson

ii. D intentionally sets house on fire to collect insurance $ for house and imbecile.

e. Limitations:

i. Why? Bc we  getting rid of malice and MR so this is serious

ii. Causation – homicide must be causally related to the felony
1. But For

2. Prox Cause

a. Stamp:

i. D takes the Vic as he Finds Him - FM1 – Robbery

ii. Appears to be exceeding prox cause but there is a causal relationship bw death and the robbery.

b. King:

i. D and Co pilot transporting weed by plane when it crashed due to fog.

ii. No FM drugs were not the prox cause of the death

iii. The crash was not a foreseeable result of the felony.

iii. Inherently Dangerous (no FM for least dangerous Felonies)
1. Applies to non enumerated Felonies (leg has determined enumerated felonies to be inherently dangerous and wants super deterrent)
2. We do this bc we don’t want to bootstrap ticky tak offenses into murder convictions → apply FM to non enum → get rid of IM and VM → so least dangerous offense don’t get FM.
3. We limit FM to inherently dangerous felonies bc there is already malice bc the D has caused a substantial risk to human life during the felony.

4. Consider Felony In the Abstract
5. Satchell –

a. D was ex felon in a bar fight, killed someone with a shotgun. It is a felony for an ex-felon to possess such a weapon.
b. This felony in the abstract is not ID bc lots of ways a felony can have a weapon and not hurt anyone → no FM

c. “Bc we can conceive of a vast number of situations wherein it should be grossly illogical to impute malice.”
6. Phillips –
a. Doc convinced parents of child with eye cancer to forgo surgery and try his treatment

b. Court says that grand theft is not ID in the abstract

c. No FM should have been IM but gets M2 without FM

iv. Merger (no FM for most dangerous Felonies)
1. Meant to preserve VM bc we don’t want to convert all other type of homicide into FM2.

HANSON TEST – Integral?
1. Do most homicides occur during the commission of this felony? Allowing FM erase vol mans?  If so no FM
a. Classis Assault and death model

b. Hanson – D gives E money to buy drugs. E does not return. D drives by E’s house, fires and shoots innocent child

i. Court kills merger

ii. If most homicides do not result from commission of this felony → FM okay. 

Now….if the felony is integral to the death and there is no separate felonious purpose then we are looking at a case for Voluntary Mans so we need to consider malice → merger  → no FM, want to give VM

2.  Is the Felony INTEGRAL to the death?

a. No → no Merger → FM

b. Yes → Merger →no FM

i. Smith

1. Felony Child Abuse can not be FM because the felony is an integral part of the felony

2. BC all homicides are felonies then all manS will be murder, i.e. we will wipe out all other types of homicides

3. If felony – step toward killing →  Felony requires you to prove malice → no FM.

ii. Ireland

1. D and wife have marital problems he kills her

2. Assault → no FM bc the felony = integral to the death can’t merge bc you will be taking away the question of malice.

3. Datapoint → assault and death prob → integrity problem

4. eradicated robbery from FM bc  the robbery was integral so no FM → this case could pose a risk to FM 1 so when there is a separate felonious purpose then there is no merger???
a. Is it prolonged?
b. Yes → No merger → FM
c. CC: Shockley
i. Malnutrition and dehydration
ii. This is an independent Felony bc this is neglect→ FM

iii. Killing after extended conduct → no VM bc berry is the max and this is not HOP
*Would application of FM preclude the jury from considering malice aforethought in the great majority of all homicides and contradict leg intent? if yes then FM does not apply under Hanson

2. Is there a separate felonious Purpose?

a. Yes → no merger → FM

b. Robbery – money

i. Burton – d killed during the court of an armed robbery

ii. Rape – sex

iii. Arson 

iv. Burglary with intent to kill or assault

1. not Wilson:

a. D entered estranged wife’s apt killed wife and wife’s friend. D’s sole purpose was to commit assault-kill → no FM
Enumerated Felonies – Separate Felonious Purpose?

3. Merger may bar FM1 (i.e. burglary)
a. Wilson – (CA) Merger, no FM

i. could erode FM1 when you have the sole purpose of killing the person and there is not separate felonious purpose.

ii. Bar FM for Burglary bc the felony to be committed within the home is assault → merger → no FM

iii. Enumerated and no Sep Fel Purp → problem → merger

b. Miller (NY)

i. Breaks and enters and kills people

ii. Indoors → no merger →FM (bc the furniture makes it more dangerous and you can get away on the street….crazy)

iii. NY – no merger when there is a burglary with the intent to commit aggravated assault therein

v. Killing in Furtherance

Who Kills?   3 theories
1. Proximate Cause 

a. Expands FM

b. FM applies for any death that is a foreseeable killing – even the death of a co-felon.

c. No matter who did the killing…was it within the foreseeable risk  of the commission of the felony?

d. Canola concurrence:

i. Some courts will not give liability when a co D is killed by an innocent bc this is justifiable homicide.

e. Martinez:

i. Posner says we want to deter people from killing and Co D are not worthless → allows FM
f. Almeida:

i. Cops kills another cops when  called to crime scene.  FM applies bc  the death was prox caused from the unlawful activity.

2. Agency

a. Restricts FM

b. For FM to apply Felon or Co Felon must kill. No FM when victim or cop kills.
c. Canola

i. D faces FM for death of Co Felon shot by store owner.

ii. No FM under agency bc D or a Co felon was no responsible for the death
d. Exception to Agency:

e. “Shield Cases”

i. normally under agency no FM bc the felon or co did not kill

ii. Keaton

f. Unanticipated actions of Co- felon – Limitation on Agency
i. Heinlein

1. Gets you out of FM in an agency JDX.

2. Gang rape and one felon kills he court says this is outside agency agreement

3. CC: Chilling bc they knew this was dangerous

3. Provocative Act doctrine – Vicarious Liability

a. Expands FM bc it is like Proc cause in agency JDX.
b. SL even thought says that it is not.

c. Provocative Acts of one felon create malice for co felons.

d. V = felon is responsible  for any killing attributable to the intentional acts  of his  co felons committed in a way that is sufficiently provocative to support implied malice  and with conscious disregard for life and likely to result in death whether or not the co felon directly caused the death
e. Proc Cause + Provocation

f. Taylor

i. D provokes owner to kill him. T is in the car

ii. They are in an agency JDX which would not allow FM for this killing but use VL to get T for FM
iii. VL exists if D or accomplice is addition to the felony, act in a way that is sufficiently provocative to support implied malice.
vi. When does a felony begin and end?

1. begins during planning and ends after the escape
5. VOLUNTARY MANSLAUGHTER (CL)
a. Heat of Passion Killings (S)
i. Reacting violently out of passion is a mitigating factor

ii. Consider is the passion reasonable?

b. ACTUAL: D must be in a disturbed state: (S)

i. Mahr – sweating profusely

ii. If calm → no HOP

c. Adequate Provocation (O)
i. State of mind is  a mitigating circumstance which is a partial defense.

ii. Must excite a reasonable man – Mahr not Casassa
iii. Ordinary Man Standard –Mahr
1. Saw Wife enter forest  and told about it by a friend just before the incident

2. malice vs. provocation is a mitigating circumstance bc any reasonable person would feel enraged
3. CC: mere words should not be adequate provocation bc is speculative. → SS.

4. CJS → can’t deter people in the thrall of emotion, not deserving of retribution

5. Dissent:

a. Words alone are not sufficient provocation bc she is innocent

iv. Innocent Killing → no Vol ManS  defense
1. Seriva 

a. Kills a bystander when he tries to kill the man who ran over his daughter
2. Spurlin:

a. Kills a sleeping son bc he us upset with wife.
3. No defense bc these people are innocent and did not provoke

4. But might get MPC manS bc more D friendly

v. Mistaken ID → Vol ManS defense
1. CC Mauricio:

a. D mistook innocent for bouncer who beat him up

b. May have HOP instruction bc less culpable and less retributive
c. Conflict with Seriva bc they all kill innocents and this case should be overturned

d. Or they are reconcilable bc  Servia and Spurlin know the person they are killing = innocent  where Mauricio thinks he is killing the person who provoked him.
vi. D triggers provocation 

1. Johnson – ??
a. D initiates, V punches, D stabs V. V is using self defense so no reason to give manS.

b. Depends on if we are sympathetic

c. Provocation by D does not preclude a manslaughter defense

d. Initiate fight →  no manS instruction, unless it is a minor insult and D acts crazy

e. This is not always going to apply.

i. Super cuts vs. running around with a crowbar????

vii. Homosexual Advances:

1. Jenny Jones Hypo:

a. Extremist or mental infirmity?

b. Mental illness → SS for hate crimes

c. Allowing a defense gives to lessening hate crimes.

viii. Adapting the reasonable man standard:

1. Camplin – Age and Sex considered

a. Reasonable man of same sex and same age as D

i. 15 year old was sodomized and killed attacker with a frying pan.

b. Expands reasonable person test.

c. Can Expand to include other physical characteristics which effect provocation.
i. Gang hypo: converting age/sex into cultural defense - dangerous
d. Limit it by saying that it only goes to characteristics which are biological.

2. Culture – Masciantonio

3. Battered Woman’s Syndrome: NO Defense
a. McClain 
b. Felton

c. Maybe a defense under MPC or use Camplin to say mental condition = mind = body → expand reasonable man standard.

4. Drug Addiction:

a. Morhall:

i. Glue sniffer killed person taunting his addiction

ii. Consider addiction in judging provocation but consider would a reasonable person have reacted this way

5. Depression:

a. Klimas-
i. Killed wife after months of fighting tried to use his severe depression to get a defense.

ii. Psychiatric evidence is irrelevant when not legally insane

ix. Depends on innocent vs. guilty

d. Without Sufficient Cooling Time (S & O)
i. Triggering  Event Required – CL only
ii. Would a reasonable man have cooled down? If possible → argue premed
iii. Short:

1. LeClaire-
a. D suspected for several weeks that wife was having an affair → confirmed suspicion → killed her → adequate CT.
b. Held: sudden confirmation of suspicion does not negate a sufficient cooling time.

2. Gounagias –
a. D was raped 2 weeks earlier then taunted by people. D kills rapist → Adequate CT

b. No rekindling of provocation.

c. Looks like premeditation bc plenty of time to think

d. Utilitarian → narrow cooling time and narrow types of stimulus.

3. Bordeaux –
a. Revelation of mother’s rape confirmed. They beat him up leave and he comes back  later in the day and slits his throat → Adequate CT

b. Premeditation in leaving and returning after feeding rage though out the day.

c. Self created stimulus is not justifiable.

iv. Exception -  Long:

1. Berry –
a. D lied in wait for 20 hours, simmering, kills her when she gets home.

b. No Cooling time bc long smoldering reaction → heat of passion has been building since the provocation

c. Dangerous to use:

i. SS of perverse incentives

ii. He could have been deterred bc of time to think

e. Problems:

i. Mental illness → do not qualify bc can’t determine if they are acting reasonably or not.

ii. Reasonable person standard cant be used in mental disturbance cases which is not fair → mentally ill held to higher standard

6. MANSLAUGHTER (MPC)

a. MPC 210.3:  Plain Recklessness and Extreme Emotional Distress

b. Analogous to CL – vol manS: HOP but MPC = more liberal, no triggering event required, more subjective, no cooling time limitation, words alone may suffice, diminished capacity considered.
c. 2 PRONGS:

i. Plain Recklessness
1. D is aware of the risk

2. D disregards the risk

3. The risk is substantial and unjustifiable

4. D’s conduct is a gross deviation from the standard of a reasonable person

ii. EED (S &O)
1. Thrall of EED? Is distress reasonable from his POV?
2. D acts under  Extreme Emotional Disturbance (O)

3. Influence of EED → with reasonable explanation or excuse (S & O)
a. Reasonableness = POV of a person in the actor’s situation under circumstances as he believes them to be. (Not a reasonable extremist)

4. NOT Casassa:

a. D dates vic. Breakup. He breaks in, waits in her bed, stabs her and drowns her to make sure she is dead.

b. He does not her ManS bc this is not an understandable human response → no EED
c. Mahr gets is bc understandable and actual relationship. → there should be no distinction bc depends subjectivity
d. Gives us no guidance → we don’t know how much subjectivity to use in deciding if you get EED defense. Mental illness may be relevant.

5. Walker –???

a. Drug Dealer → no EED words are not enough
b. Dissent:

i. Words alone may be sufficient under MPC
ii. This is not a sympathetic case

6. No Cooling time limitation:

a. Long standing turmoil → maybe a defense even 5 years

7. No Triggering event Required

a. Elliot –

i. Irrational Fear of brother for years. Shows up to house and kills him.

ii. EED can be brought about by mental trauma or stress over long period.
b. Battered Wife Syndrome:

i. Maybe gets a defense

ii. SS → assassinations bc no triggering event

8. Killing a non provoker does not ban D from a partial defense.

a. Consider EED. Reasonable? Sympathetic? Probably not!

7. NEGLIGENT HOMICIDE (MPC)

a. MPC 210.4 -  Gross Criminal Negligence

i. Criminal homicide constitutes negligent homicide when it is committed negligently

8. INVOLUNTARY MANSLAUGHTER (CL)

a. 2 theories

b. 1. CPC §192 General rule = required Gross Criminal Neg

i. Killing without Malice where the unlawful act  might produce death, in an unlawful manner or without due caution or circumspection   = GCN
ii. No clear line bw IM and M2

iii. 4 Factor Test:

1. Is there a great risk of Harm?
2. Is there Effort required to Alleviate the Harm?
a. if great effort needed → weigh against GCN and weaken case
b. If easy to stop the risk → bad for D
3. Is the harm Foreseeable?
a. It must be foreseeable

b. Objective Test
4. Does society Benefit from D’s Conduct?
5. Consider inherently dangerous instrumentality?
6. Must be a gross deviation from RPP standard!!
a. not running a red light → ordinary neg, but deterrence yes!

iv. Welansky:

1. Nightclub owner get invol mans bc exits are blocked  and flammable materials. He did not consider the possibility of  death 
2. AR = omission.  MR = wanton or reckless conduct
a. so stupid so heedless of the danger

3. Not reckless

4. Gross Criminal Negligence Standard bc so stupid or heedless

5. Held: even if he did not realize the grave danger posed by his conduct he is responsible bc an ordinary person would have been aware

6. IF D violates Bus and Safety Codes → think GCN → Welansky.

v. Williams –

1. Parents love baby don’t take it to doc for fear of baby being taken away. Baby dies bc no treatment during critical period.
2. Ordinary Neg Standard  - When a RPP would have sought medical care and deemed it necessary.

3. AR = omission. MR for GCN

4. No M2: bc didn’t want baby to die + sympathetic
vi. Conduct must be incompatible with a proper regard for human life, or conduct amounting to an indifference to consequences
1. State v. Barnett and Andrews v. Public Prosecutions
a. Gross deviation from the standard of a reasonable person

b. The risk created is substantial and justifiable

c. The ordinary man would be aware of the risk

c. 2. Unlawful Act Doctrine -- Misdemeanor Manslaughter (CL)
i. SL → Commit a misdemeanor and there is a death during the act → only need to show D’s unlawful act caused the death
1. Proof of Criminal Neg or Recklessness is not required.

2. Why? 

a. already committing an illegal act → indicates GCN 

b. Prob = ppl with MR lower than GCN can still get  IV 

ii. Limitations:

1. Proximate Cause

a. Death has to be connected to the misdemeanor

b. 2 prongs: Must meet for UAD
i. But For

1. But for D’s misdemeanor would V have died?

ii. Prox Causation

1. Was the death foreseeable consequence
2. NOT Williams:

a. Not renewing drivers license is not a prox cause of death.

2. Only Malum in Se: Regulatory offenses (Where cases will turn)
a. High Stigma, and Must be evil in and of itself

b. This limitation forbids stacking SL on SL

i. SL offense – regulatory offense might be malum prohibitum

ii. If we don’t require it to be In Se then you will get ManS w/o MR.

iii. Rape and theft would not be SL offenses → UAD can apply.???

c. Hose:

i. Malum in Se does not matter bc he thought that he was driving 13 hours but got no defense bc this is a misdemeanor and SL (no MR) → seems unfair

d. If in Hose JDX you will not get Malum in Se limitation!!

3. Dangerousness

a. Limit doctrine to misdemeanors which rise to the level of criminal neg, i.e. dangerous to human life under the circumstances

b. Limit to misdemeanors which protect human life

c. More expansive than Malum in Se

d. Hose:

i. Driving for 16 hours which violated law → this is dangerous → IM

e. Powell:

i. Failing to chain up dog

ii. Dangerous bc it is a violation of a safety ordinance.

CAUSATION_______________________________________________________________________
1. But for cause
a. But for D’s act, would the prohibited result have occurred?

b. Causation is involved in homicide, FM, and furtherance
2. Prox cause

1. is there a direct causal link?
a. Foreseeable?

i. Acosta:

1. All is foreseeable but highly extraordinary results (this has never happened before but is still foreseeable → everything)
2. Dissent: Zone of danger

ii. Arzon:

1. D need not be sole and exclusive cause but D’s conduct must be a link in the chain
b. Intervening conditions or actors

i. Acts of nature

Gen cuts off liability

ii. Condition of vic:

1. Eggshell: take as you find

2. Stamp

iii. Med Mal:

1. Gen does not cut off liability → bc culpability is paramount.

2. Evil doctor – clear cut off of liability

3. Hall

4. Shabazz – neg does in liver surgery → liability not cut off

5. Main – datapoint for cutting off liability. Cop does not move vic → dies → outlier case even if you have a bad actor and a person trying to help liability can still be cut off.

iv. Act of the Vic:

1. Stephenson
a. Vic suicide does not cut off liability where there is confinement and physical control over vic and there is an assault.
b. Possible policy determination bc leader of kkk

2. Valade

Vic throw self out window → guilty bc this is foreseeable

3. Preslar

No liability bc she decided to leave and sleep in the snow she had alternatives → parents house

Fineburg:  

Sterno Case. Knows people addictions. Financial Gain  →  Causal Liability
v. Drag Racing

1. Root

a. Vic self determination and personal decision cut off the liability to the D when drag racing.
2. CC: McFadden:***
a. Drag racing lost control  → foreseeable result = death → joint acts liable.

b. Acts or omissions of 2 may work concurrently as the efficient prox cause of the injury.

c. Supports Deterrence of dangerous activity.

3. Atencio:

a. Group RR, all causally responsible for V’s death

b. Denies claim of 3 separate games.

4. Lewis v Lane:

a. Game ended, so no liability, where D said game was over and left room and V indep started game one again. → S
Transferred intent:

AR + MR → this MR will transfer to the  accidental vic. 

a. This can’t always work when there is

i. HOP ManS

1. Killing an innocent → no transferred intent HOP does not apply → intentional killing. Spurlin and Scriva
ii. Accidental assault creates more serious liability

1. CC: Contrua – gets intentional assault of child, not fair
b. Use policy to get out of transferred intent.

Want to kill some one but kills the wrong person by accident →M1 for the death they caused

MPC 2.03 2 a

c. Where the crime requires that the D intentionally caused a result, that element of the crime is satisfied if the D accidentally kills someone else.
OBJECTIVES OF THE CRIMINAL JUSTICE SYSTEM: 
The reasons why we punish

*Retribution: punish past events, backwards looking

*Utilitarian Rationales: punish for good future consequences ( deterrence, rehab,      incapacitation)

A. Retribution: 

a. Anger and vengeance:
i. This is fair and reflects the retributive nature of society
ii. Requires punishment even if it will not deter future criminal conduct. It looks back  to see if the conduct deserves punishment.

b. Eye for eye – Kant

i. → absolute symmetry in punishment, and social revenge
c. James Stephens:

i. Healthy and morally right to hate those who commit criminal acts 

ii. Justifies the most hated of punishments bc punishment should reflect the hatred.

1. no arbitrary punishment

iii. right to seek revenge 

iv. reaffirms societies norms.

d. Examples:

i. Regina v Dudley  and Stephens – Sentenced to death for killing a man at sea to satisfy their hunger → argued necessity but was rejected on grounds that it is never justifiable to take the life of an innocent to save your own. They are punished under retribution.
1. Hale prevailed: you can’t kill and innocent it is better to die.

2. Bacon (you can take to save) and Holmes (homicide may be justifiable) were rejected due to slippery slope

3. This case only satisfies retribution, not deterrence (put to death no specific deterrence,  not general bc so rare), incapacitation (not dangerous) or rehabilitation (not dangerous)
B. Deterrence
a. Based on the idea the criminal weighs the advantages and disadvantages of their acts before committing a crime.
b. Utilitarian and looks forward to discourage conduct.
c. White collar crimes more deterrable than emotional crimes.
d. General:

i. Threat of punishment deters potential offenders in the general community which is based on the general belief that the law works
ii. Assumes we calculate:
1. A crime that requires calculation may be more effectively deterred than a crime of passion (Bergman)

iii. Jeremy Bentham – People calculate risk v. benefit – if risk or pain is > than benefits or pleasure, the person will be deterred.

1. what about fits of rage?

2. he does not consider ppls denial of consequences and short term gains.

iv. Johannes Andenaes – Ability of crim law and its enforcement is to make people law abiding ??

v. Kant is a critic of deterrence – he feels people should be punished bc they deserve it Not under a utilitarian justification of deterring others.
vi. Examples:

1. Martha Stewart – visual of a real person being punished, now we know don’t lie to a federal prosecutor and people take notice bc people see this is something that they might do.
2. US v. Bergman – case of general deterrence – reminder that the law’s warnings are real and that imprisonment is a punishment for acts of deception and fraud. Must punish or offense will be considered less serious even if unlikely D will commit the crime again and he is not threat to the public.
3. UC Irvine:

a. General deterrence – make people more responsible but how can you deter forgetfulness.

b. **must deter of else slippery slope. others may have an excuse. I forgot.
e. Specific:

i. Theory that a D being punished will deter him from future crime.
C. Rehabilitation

a. Michael Moore: 3 ideas

i. Rehabilitated when safe to return to the streets – changes desire to commit crimes. (justifies punishment)

1. utilitarian – cost benefit → rehab to deter them from committing future offenses.

ii. Above + wants offenders to lead a flourishing life (justifies punishment in the name of the offender)

iii. Criticism
1. paternalistic in wanting to make them better people– not proper in a theory of punishment
2. “terrible allocation of resources” b/c giving resources to those who least deserve them, criminals…

3. punishment to better the offender → more brutal punishments than simply extracting offender from society. 
a. Chemical castration, shock therapy → torture
4. Assumes that we can “fix” people.

D. Incapacitation

a.  Collective-
i. blanket sentences for offenses – incarcerating a broad category of offenders for a high term of years.

1.  mandatory minimums
ii. Criticism:

1. not flexible

2. incapacitates people who are not likely to offend again. Old people kill less than the young.

iii. Examples:

1. all first time bank robbers will receive a sentence of 5 years 

b. Selective

i. Targeting particular offenders most likely to commit serious crimes at high rates-   profile and personality testing which considers econ status, education, family life, work history, crim history, race gender and social class → discriminatory 
ii. Small number of offenders commit a disproportionately large number of offenses
1. for success → must identify  the correct type of offender early on.

iii. Criticism:

1. goes against equal crime equal punishment, some people would go to jail longer for the same crime.

2. unfair to punish for crimes which are not yet committed.

iv. Examples:

1. 22 year old college grad forged checks:

a. Gets the 6 year man min even though prosecutorial discretion could have gotten her off. Considered like style → privileges which makes crime worst bc many poor would never do this.

b. Shows that rich can receive harsher punishments just like the poor.

2. ELF Bomber:

a. Lesser sentence bc he can greatly contribute to science → cost-benefit profile → acquitted bc looked at 30 year punishment rather than the facts.












